Cheinistry 3331-100
Organic Chemistry/Dr. Barney Ellison
Thursday: Sept. 24 @ 19:00 — 20:30/17 Exam/Ramaley C250
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1 (10 pts}  Pyridine and imidazole are modest Bansted bases at nitrogen, whereas
pyrrole is not.

= 7. 1
rfw:i ~n U\;I:I,U
s

: N
“r it r
Pyridine Pyrrole Imidazole

In fact, pyrrole is protunated in strong acid and at C(2) , not on nitrogen. a) Explain why
pyriding and imidazole are basic and pyrrole is not Then explain why cven toal
protonation is at carbon, not nitrogen.
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2010 pts) An unknown hydrocarbon is known to have one of the isomeric structures
shown below. Devige a simple chemical (est to distinguish these three substances.
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3. (10 ps)  The ammoniwm ion, A, i# & deactivated nng and is a mefa director. In
contrast B is dimethylanaline and is an activated ring and an oréfe, pora direclor, Write
the mechanism for mono-bromination for A and B
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4. (50 pts) Carry out the following syathesis; use any reagenis you like.
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S {10 ps) Write a resomable mechanism for the cyclization balow.
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6. (10 pts)  Predict the favored position of electrophilic aromatic substitution of the
following compounds and justify your answer.
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